Status of MiniISPD
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Silicon stations occupanmes

Clearance between two halves
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Signal amplitude distribution

—| Silicon signal (station 0) Silicon signal (station 1)

—— — : 1 Sllllcor:i siggnal (Estatzion 2)

L |Enu|n :mmJ 1000 Entries zrm] B i di Entries 26072
E 1000 |—----- .......... ...... .......... .......... ..........
Q00— --ediadnniagninid -
: B | R SOOI RO SRR ...j ........................................................
400— i R
- QOO 55580 - i ariss s sdasianzeny
s B (7171 SESPITRE TR TORTIIS YNNI, SITE TO0 0 PN | EPRRRN: DO PR R
M hnimeions B 5 nasnes B snsseinotlishanomnsBongssnss hoansses bifupnsaonssssnssnaes BinisevsvAbrpnssonnss i B

[PPRRTR TETTTTTT: PINTPRE DRRRTIOR SO

100—

0 1|1||1|l||1|L1||||1||||||11|11|| et el viclaa il e clllil_l.lj.. wiWH 0 O W 990 WA FA
-1000 -800 -600 -400 -200 O 200 400 600 800 1000 4000 -800 -600 -400 200 O 200 400 600 800 1000 1000 -800 -600 -400 -200 O 200 400 600 800 1000
AE [?777] AE [777] AE [?777]

o




Signal from one strip
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Alignment
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Process of alignment will be performed
using Millepede II.
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Millepede uses least squares algorithm.

_5_lllllllllIIIIIIIIIIIIIIIIIIIIIIIIlIllIllllIIlI
-5 4 -3 -2 -1 0 1 2 3 4 5
res X [mm]




Backups
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Residuals on distinct stations
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Signal amplitude distribution (absolute value)
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Cut signals
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Llillllillll- ll_iLIJ_liJlllillllillH

ollllilllli IlIIIIllillllillllilllllllll L1
0 100 200 300 400 500 600 700 800 900 1000

AE [277]

0

100 200 300 400 500 600 700 800 900 1000
AE [227]

100 200 300 400 500 600 700 800 9S00 1000
AE [?77]



